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QUESTION 1

What type of PW is the CESOPSN?
A. Structured and unstructured

B. Unstructured

C. Unframed

D. Structured

Correct Answer: D

Reference: https://www.cisco.com/c/en/us/td/docs/routers/asr903/software/guide/cem/16-7-1/b-cem-
ds3-xe-16-7-1-asr900/b-cem-ds3-xe-16-7-1-asr900_chapter_010.pdf

QUESTION 2

SyncE clocking is provided at what OSI layer?
A. Layer 3

B. Layer 2 and 3

C. Layer 1

D. Layer 2

Correct Answer: C

QUESTION 3

When configuring SAToP what must the framing be configured as?
A. Framed

B. Native

C. Structured

D. Unframed

Correct Answer: B

QUESTION 4

Which two options configures an ASR920 router as a hybrid clock? (Choose two.)

500-240 PDF Dumps | 500-240 VCE Dumps | 500-240 Study Guide 2/3


https://www.passapply.com/500-240.html
https://www.passapply.com/500-240.html
https://www.passapply.com/500-240.html

VCE & PDF https://www.passapply.com/500-240.html
2024 Latest passapply 500-240 PDF and VCE dumps Download
PassApply.com

A. ptp clock boundary domain 0O

B. ptp clock boundary domain 0 hybrid
C. ptp clock ordinary domain 0 hybrid
D. ptp clock ordinary domain O

E. ptp clock

Correct Answer: BC

QUESTION 5

Which technology uses two or three antennas to receive (input) the signal and two or three radios to transmit (output),
plus special signal processing to improve range, reliability, and throughput.

A. HSPA
B. CDMA
C.LTE

D. MIMO

Correct Answer: D
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